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Question 1

Question Type: MultipleChoice

Which protocol runs over TCP port 23?

Options:

A- SSH
B- NETCONF
C- HTTP

D- Telnet

Answer:

D

Question 2

Question Type: MultipleChoice




What are two properties of private IP addresses? (Choose two.)

Options:

A- They can be used to access the Internet directly.

B- They are more secure than public IP addresses.

C- They are not globally unique.

D- They can be repeated within the same local network.

E- They are controlled globally by an IP address registry.

Answer:

B, D

Question 3

Question Type: MultipleChoice

Which implementation creates a group of devices on one or more LANS that are configured to communicate as if they were attached to
the same wire?



Options:

A- WLAN
B- VLAN
C- IPsec
D- HSRP

Answer:

B

Question 4

Question Type: MultipleChoice

Which application should be used to externally access all applications deployed in the same host machine with a single public IP
address and port, when each application listens on different local ports?

Options:




A- reverse proxy
B- load balancer
C- DNS

D- firewall

Answer:

D

Question 5

Question Type: MultipleChoice

Refer to the exhibit.
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What do all the calls shown in the sequence diagram have in common?

Options:

A- All the calls are optional.

B- All the calls are asynchronous.




C- All the calls are synchronous.

D- All the calls depend on the catalog.

Answer:

D

Question 6

Question Type: MultipleChoice

Refer to the exhibit.



diff --git a/ciscoaxl/axl.py b/ciscoaxl/axl.py
index bc7727e..détefdd 100644
——— a/ciscoaxl/axl.py
+++ b/ciscoaxl/axl.py
@@ -99,7 +99,7 @@ class axl (object):
:return: result dictionary
try:
= return self.client.executeSQLUpdate (guery)
+ return self.client.executeSQLUpdate (guery) [ 'return']
except Fault as e:
return e

diff ——git a/setup.py b/setup.py

index df79%9ef4..1470b05 100644

-—— a/setup. py

+++ b/setup. py

@@ -5,7 +5,7 @GR with open("README.md", "r") as fh:

setup (
name="ciscoaxl",
= version="0.14",

+ version"0.141",
author="User 1",
author email= "userl@example.com",

description="Cisco CUCM AXIL Library. Simple to use.",




Which two files are being edited in the unified diff? (Choose two.)

Options:

A- README.md
B- setup.py

C- axl.py

D- ciscoaxl.py

E- index.py

Answer:

B, C

Question 7

Question Type: MultipleChoice

What is the purpose of a MAC address on a network device?



Options:

A- unique network address that identifies the network interface of a device
B- unique network interlace address that is provided by the DHCP server
C- unigue hardware address that identifies the network interface of a device

D- unique hardware interface address that is provided by the central switch

Answer:

C

Question 8

Question Type: MultipleChoice

Where is an IP packet routed if the packet does not match any routes in the routing table?

Options:

A- firewall



B- load balancer
C- central switch

D- default gateway

Answer:

D
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